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The announcement. The physical essence of the new first law of dynamics consists that the force of the inertia interfering accelerated movement of a body, is transformed by virtue of the inertia, driving it at transition to uniform movement.
           The first old law of dynamics says: the sum of the forces working on in regular intervals moving body, is equal to zero. In view of it the equations of the forces working, for example, on in regular intervals flying plane are made, and there is, that a sum of the forces working on it, is equal to zero, but it flies. This fundamental contradiction most of all revolted pilots and experts on theoretical mechanics had no answer to this question till July 2009 year when the new first law of dynamics has been formulated and its reliability is proved. The new first law of classical dynamics says: the sum of the forces working on the moving body, is never equal to zero.

          The proof of reliability of the new first law of dynamics simple enough, but difficultly perceived to be released by those who can’t a loss from old stereotyped scientific representations. Therefore we shall result it once again. On fig. 1, а change of force of resistance [image: image2.wmf]C

F

 is submitted graphically to movement of the automobile at accelerated – OA, uniform – AB and slowed down - BC movements.
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Fig. 1. а) - the circuit of change of forces of resistance [image: image4.wmf]C

F

 at accelerated OA, uniform AB and slowed down BC movements of the automobile; b) – the circuit of the forces working on the automobile at accelerated OA movement; с) – the circuit of the forces working on the automobile at uniform AB movement; с) – the circuit of the forces working on the automobile at slowed down BC movement  

       At accelerated movement OA (fig. 1, b) on the automobile operates newton’s   active force 
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generated by its engine; the force of inertia 
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 directed opposite to acceleration 
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 of the automobile and consequently braking its movement; total force of all external resistance [image: image8.wmf]C
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which also is directed opposite to movement of the automobile. In result we have the conclusive equation of the forces working on accelerated moving automobile (fig. 1, b)
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If to agree with Dalamber who considered, that the size of force of inertia 
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 is equal to the mass 
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 of a body increased on the same acceleration 
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 which arises at action of newton’s forces 
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   the force of resistance [image: image14.wmf]C
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which is included in the equation (1), appears equal to zero. An output from this contradiction one: to count, that the acceleration [image: image15.wmf]i
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created by force of inertia 
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, it is not equal to the acceleration 
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created  by newton’s force 
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. Then in the developed kind the equation (1) will be written down so


[image: image19.wmf]c

F

i

a

m

a

m

+

×

=

×

.                                          (2)

           Also there is a question: in what physical essence of occurrence of two accelerations? The answer is almost obvious. Inertial acceleration [image: image20.wmf]i
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 corresponds to movement of the automobile in vacuum at full absence of forces of resistance (
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). If forces of external resistance are absent (
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), so
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 This implies, that true inertial acceleration of a body can be defined in conditions, when there is no external resistance. It is quite natural, that experts on space technical equipment own methods of such definitions and have the experimental information on it.  


 From stated follows, that on a share of force [image: image24.wmf]C

F

 of resistance too it is necessary movement a part 
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 of full acceleration 
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. It is defined from the formula (2)
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 Thus, the size of full acceleration 
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 of the body moving accelerated, will consist of two components: an inertial component [image: image29.wmf]i
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 and a component, falling a share of forces of resistance to movement 
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. We mark, that stated till now it was not taken into account. An inertial component [image: image31.wmf]i
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 of full acceleration [image: image32.wmf]a

 entered into it in the disguised kind as full acceleration [image: image33.wmf]a

 of accelerated moving body was considered, that, is acceleration created by newton’s  force 
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which was considered to equal force of resistance [image: image35.wmf]C
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, and force of inertia 
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which also interferes with the accelerated movement of a body, it was not taken into account at all. In result force of inertia was included automatically into total force of resistance [image: image37.wmf]C
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, to be exact in structure of experimental factors of resistance which as now it becomes clear, appear erroneous.

              From the equations (2) and (3) the force of the inertia [image: image38.wmf]i
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 working on the automobile at its accelerated movement follows, that, is equal  
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and the scalar size of inertial acceleration [image: image40.wmf]i
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 will be defined under the formula
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The size full newton’s acceleration 
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 is defined from the kinematic equation of the accelerated movement of a body
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If initial speed of the automobile 
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 full acceleration 
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 is equal to speed 
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 of the automobile at the moment of its transition from accelerated to the uniform movement divided for the period of 
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 accelerated movement 
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Basically, at the decision of problems, it is possible to accept size of the speed 
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equal to size of constant speed (
[image: image50.wmf]const

V

=

) bodies at its uniform movement, the come ambassador of the accelerated movement. Force 
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 of total resistance – size experimental.  

Thus, there are all data necessary for definition of inertial acceleration [image: image52.wmf]i
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 and calculation of force of inertia under the formula (5). It is uneasy to see, that size of inertial acceleration 
[image: image53.wmf]i

a

 less full (newton’s) acceleration 
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. It the less, than more force of resistance 
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. It means, that at the accelerated movement of the same body in air and in water with same newton’s acceleration 
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, its inertial acceleration [image: image57.wmf]i
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 (6) will be less in water as the most part newton’s forces 
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 will be directed on overcoming of total force 
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 of all resistance, instead of forces of inertia 
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. In space, far from stars and planets, there are no forces of resistance, therefore newton’s force 
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 working on such body at its accelerated movement, will be directed on overcoming only forces of inertia 
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, result (newton’s) 
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 acceleration will be equal (3). Thus, the share of inertial acceleration [image: image65.wmf]i
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 in newton’s acceleration 
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 depends on resistance of environment 
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 (6). 

When the automobile starts to move in regular intervals (fig. 1, с) force of inertia 
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 automatically changes the direction on opposite and the equation of the sum of the forces (1) working on the automobile, becomes such
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The essence of this equation consists that uniform movement of the automobile is provided with force of inertia 
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, and the constant force 
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generated by the engine of the automobile, overcomes all external resistance 
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. Force 
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 is constant because the automobile goes in regular intervals and its acceleration is equal to zero 
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If to switch off transfer external active force 
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 will disappear (fig. 1, d) and two opposite directed forces will stay: force of inertia 
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 and force of resistance to movement 
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. As force of inertia has no the source supporting it in a constant condition it appears less forces of resistance to movement (
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) and the automobile, starting to move in a slowed-up way (fig. 1, d), gradually stops (fig. 1, point C). In view of it there are bases to name force of inertia passive force.

         Apparently (9), at uniform movement of the automobile the sum of the forces working on it, is not equal to zero. This implies the new first law of classical dynamics: the sum of the forces working on the moving body, is never equal to zero.


 Now we can calm pilots. According to the new first law of dynamics the sum of the forces working on in regular intervals flying plane, is not equal to zero (9). The force driving the plane in regular intervals, is force of inertia which has been directed opposite to its movement when it moved accelerated (flied up). As soon as the plane starts to fly in regular intervals force of inertia changes the direction on opposite and coincides with the force created by engines of the plane. In result force of inertia starts to provide uniform flight of the plane, and force of engines of the plane - to overcome forces of resistance to its flight. Thus, uniform flight of the plane to be described by the formula (9) which the sum of forces is not equal to a zero.


 We shall pay attention that the distance 
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 of movement of the automobile with acceleration is less than distance of movement with delay 
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 (fig. 1). It is caused by that on a site 
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 the size of forces of resistance 
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 at dispersal of the automobile is more than forces of resistance at the slowed down movement because at the slowed down movement the engine and a box of transfers is switched off. It - the main reason of economy of fuel at driving with periodic deenergizing transfer. Certainly, frequency of motion cycles of the automobile with the included and switched off transfer big enough. And what if a similar pulse mode to use at rotary movement of a body?


 The detailed analysis of the new first law of dynamics has shown, that efficiency of rotary process can be increased considerably if to generate sine wave pulses of the inertial moments in system of a drive the electric motor - consumer and to cut off negative amplitudes of pulses with the help overrunning clutch. 

          At start-up of the electric motor all rotating details, increasing revolutions, get the inertial moments which interfere with rotation of the engine. When the engine passes to constant revolutions the inertial moments from a braking condition pass in a condition supporting in regular intervals rotating drive of the electric motor. In such position there is no need to form the continuous rotating moment of the electric motor. For preservation of the established revolutions of the electric motor it is enough to influence a shaft of a drive sine wave pulses of the moments of centrifugal forces of the inertia generated  by the disbalances. If in system of a drive to establish overrunning clutch it will cut off negative braking amplitudes sine varying pulses of the moments of centrifugal forces of inertia of disbalances, and positive amplitudes will be transferred the consumer and thus to release a shaft of the electric motor from loading. 

The described principle of reduction of the charge of the electric power the electric motor is realized by Russian engineer Linevich Edvid Ivanovichem. He has proved experimentally, that presence in mechanical transfer of the electric motor the disbalances results in increase in mechanical power at its shaft which repeatedly exceeds electric power on a drive of the electric motor [1].
As not all have understood physical essence of generating of additional mechanical power we shall explain it once again. At the accelerated rotation of all mechanical details they resist to rotation and form the inertial mechanical moment 
[image: image83.wmf]i
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. As soon as the accelerated rotation comes to an end and uniform rotation all rotating details, having a stock of the kinetic energy received at accelerated rotation, transform it to the rotating inertial moment which all time is present on a shaft of the electric motor begins. Therefore the electric motor spends power only for overcoming of the moment of the resistance 
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 generated by the consumer, and the inertial moment 
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 present on its shaft, remains, as though in a stock. At result on a shaft of the electric motor there are two moments, directed aside rotations: the moment 
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continuously generated by the engine, and the inertial moment 
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 (fig. 2). At the established operating mode of the electric motor the sum of these moments 
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 remains to a constant (fig. 2), and the moment of resistance 
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 created by working loading, appears equal to the working moment on a shaft of the electric motor 
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. Uniform rotation of all details provides the inertial moment 
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, and the moment 
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 generated by the electric motor, overcomes the moment of resistance 
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 generated by working loading. In result the equation of the moments in system of a drive of the electric motor looks like, (9) forces similar to the equation working on the automobile at its uniform movement 
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If into system of a drive to enter the device which will generate sine wave pulses of the additional inertial moments 
[image: image95.wmf]ii

M

 additional power will be spent for formation of these pulses. Thus, positive the amplitude of a pulse of the additional inertial moment 
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 will increase already available inertial moment 
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, and the negative amplitude of a pulse of the inertial moment 
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 will reduce already available inertial moment 
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 (fig. 2). As a result of any increase of power will not be. To receive it, it is necessary to clean action on a shaft of a drive of negative amplitude 
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 of a pulse of the additional inertial moment. To make it it is possible with the help of overrunning clutch. 

Certainly, that the positive amplitude of a pulse 
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 of the additional inertial moment has given an essential increase to already existing inertial moment 
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 it is necessary, that the positive amplitude of a pulse 
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 was more sums of the moments 
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 (fig. 2). In this case will be active to increase size of the inertial moment 
[image: image105.wmf]i

M

 on a shaft of a drive, and to help the moment 
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 generated by the electric motor, to overcome the moment of resistance 
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 created by the consumer. 
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Fig. 2. The circuit of the constant sum of the moments 
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working on a shaft of the electric motor and sine wave law of change of the inertial moment 
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Thus, positive amplitudes of pulses 
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 of the additional inertial moments will increase already existing inertial moment 
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 directed aside of rotation. This increase 
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 will be transferred through  overrunning clutch  to the consumer and pulse to release  a shaft of the electric motor from the moment of resistance [image: image114.wmf]Z
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 of working loading that will automatically lead to  pulse reduction of the charge of electric energy by a drive of the electric motor. The pulse 
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 of the additional inertial moment has duration, and at presence overrunning clutch  intervals of absence of positive pulses will appear. It is quite natural, that at absence of positive amplitude of a pulse all rotating parts I shall rotate some time on inertia. Time of this rotation – the main parameter of power efficiency of a drive. It should be less time of reduction of the total average inertial moment 
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 (S – porosity of pulses) up to size 
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       Inventor Linevich E.I. carried out finishing experiments in Austria and has positive decisions on reception of the Russian and Chinese patents. EuropUnion  has allocated means for patenting its invention in 150 countries and this process already began.

The conclusion

          It was required to experts of theoretical classical mechanics more than 300 years to establish an inaccuracy of the first law of dynamics. It closed physical essence of transformation of force of the inertia interfering accelerated movement of a body, by virtue of the inertia, driving a body at its transition to uniform movement. The new first law of dynamics eliminates all contradictions and shows, how it operates movements of all bodies, including photons, and we on a way of the detailed description of dynamics of this movement [2], [3].
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P.S. The main argument of opponents: the asteroid flying in space rectilinearly and in regular intervals, has no acceleration, therefore on it any force does not operate. 

The answer: the beginning of all movements of bodies is the accelerated movement at which there is a force of inertia. It does not disappear anywhere but only changes the direction on opposite at transition to uniform movement of a body. The plane flies in regular intervals without acceleration, but on it the force formed by its engines and force of inertia which has appeared at the accelerated movement of the plane (at rise) operates. The force of inertia working on in regular intervals moving asteroid has in the same way appeared also. 
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